

Section 4.9

$$\begin{aligned}
 \textcircled{15} \quad g(t) &= \frac{1+t+t^2}{\sqrt{t}} = \frac{1}{\sqrt{t}} + \frac{t}{\sqrt{t}} + \frac{t^2}{\sqrt{t}} \\
 &= t^{-\frac{1}{2}} + t^{1-\frac{1}{2}} + t^{2-\frac{1}{2}} \\
 &= t^{-\frac{1}{2}} + t^{\frac{1}{2}} + t^{\frac{3}{2}}
 \end{aligned}$$

$$\begin{aligned}
 \Rightarrow G(t) &= \frac{t^{-\frac{1}{2}+1}}{\frac{-\frac{1}{2}+1}} + \frac{t^{\frac{1}{2}+1}}{\frac{1}{2}+1} + \frac{t^{\frac{3}{2}+1}}{\frac{3}{2}+1} + C \\
 &= \frac{t^{\frac{1}{2}}}{\frac{1}{2}} + \frac{t^{\frac{3}{2}}}{\frac{3}{2}} + \frac{t^{\frac{5}{2}}}{\frac{5}{2}} + C \\
 &= 2t^{\frac{1}{2}} + \frac{2}{3}t^{\frac{3}{2}} + \frac{2}{5}t^{\frac{5}{2}} + C \\
 &=
 \end{aligned}$$

$$\textcircled{16} \quad g(v) = 2\cos v - \frac{3}{\sqrt{1-v^2}}$$

$$= 2(\cos v) - 3 \left(\frac{1}{\sqrt{1-v^2}} \right)$$

$$\Rightarrow G(v) = 2\sin v - 3\sin^{-1}v + C$$

$$\Rightarrow g(v) = 2 \sin v - 5 \cos v + \pi$$

$$=$$

$$\textcircled{33} \quad f'(t) = \frac{4}{1+t^2}, \quad f(1) = 0$$

$$= 4 \left(\frac{1}{1+t^2} \right)$$

$$\Rightarrow f(t) = 4 \tan^{-1} t + C$$

But

$$f(1) = 0 \Rightarrow 4 \tan^{-1}(1) + C = 0$$

$$\Rightarrow 4 \left(\frac{\pi}{4} \right) + C = 0$$

$$\Rightarrow \pi + C = 0$$

$$\Rightarrow C = -\pi$$

Thus,

$$f(t) = 4 \tan^{-1} t - \pi$$

$$=$$

$$\textcircled{41} \quad f''(\theta) = \sin \theta + \cos \theta, \quad f(0) = 3, \quad f'(0) = 4$$

$$= -(-\sin \theta) + \cos \theta$$

$$\rightarrow f'(\theta) = -\cos \theta + \sin \theta + C$$

$$f'(0) = 4 \Rightarrow -\cos 0 + \sin 0 + C = 4$$

$$-1 + 0 + C = 4$$

$$\begin{aligned}
 f'(0) = 4 &\Rightarrow -\cos 0 + \sin 0 + C = 4 \\
 &\Rightarrow -1 + 0 + C = 4 \\
 &\Rightarrow C = 5
 \end{aligned}$$

i.e.,

$$f'(\theta) = -\cos \theta + \sin \theta + 5$$

$$= -(\cos \theta) - (-\sin \theta) + 5\theta^0$$

$$\Rightarrow f(\theta) = -\sin \theta - \cos \theta + \frac{5\theta^{0+1}}{0+1} + C$$

$$= -\sin \theta - \cos \theta + 5\theta + C$$

But

$$f(0) = 3 \Rightarrow -\sin 0 - \cos 0 + 5(0) + C = 3$$

$$\Rightarrow -1 + C = 3 \Rightarrow C = 4$$

Hence,

$$f(\theta) = -\sin \theta - \cos \theta + 5\theta + 4$$

$$\textcircled{45} \quad f''(x) = e^x - 2\sin x, \quad f(0) = 3, \quad f\left(\frac{\pi}{2}\right) = 0$$

$$= e^x + 2(-\sin x)$$

$$\Rightarrow f'(x) = e^x + 2\cos x + C$$

$$\Rightarrow f'(x) = e^x + 2 \cos x + c$$
$$= e^x + 2(\cos x) + cx^0$$

$$\Rightarrow f(x) = e^x + 2 \sin x + cx + D$$

But

$$f(0) = 3 \Rightarrow e^0 + 2 \sin 0 + c(0) + D = 3$$

$$\Rightarrow 1 + D = 3 \Rightarrow D = 2$$

So

$$f(x) = e^x + 2 \sin x + cx + 2$$

Also,

$$f\left(\frac{\pi}{2}\right) = 0 \Rightarrow e^{\frac{\pi}{2}} + 2 \sin\left(\frac{\pi}{2}\right) + c\left(\frac{\pi}{2}\right) + 2 = 0$$

$$\Rightarrow e^{\frac{\pi}{2}} + 2(1) + \frac{\pi}{2}c + 2 = 0$$

$$\Rightarrow e^{\frac{\pi}{2}} + 4 + \frac{\pi}{2}c = 0$$

$$\Rightarrow \frac{\pi}{2}c = -4 - e^{\frac{\pi}{2}}$$

$$\Rightarrow c = -\frac{2}{\pi} (4 + e^{\frac{\pi}{2}})$$

Hence

Hence

$$f(x) = e^x + 2\sin x - \frac{2}{\pi} (4 + e^{\frac{\pi}{2}})x + 2$$
$$=$$

$$\textcircled{60} \quad v(t) = t^2 - 3\sqrt{t}, \quad s(4) = 8$$
$$= t^2 - 3(t^{\frac{1}{2}})$$

$$\Rightarrow s(t) = \int v(t) dt = \frac{t^{2+1}}{2+1} - 3 \left(\frac{t^{\frac{1}{2}+1}}{\frac{1}{2}+1} \right) + C$$

$$= \frac{t^3}{3} - 3 \left(\frac{t^{\frac{3}{2}}}{\frac{3}{2}} \right) + C$$

$$= \frac{1}{3} t^3 - 3 \left(\frac{2}{3} t^{\frac{3}{2}} \right) + C$$

$$s(t) = \frac{1}{3} t^3 - 2t^{\frac{3}{2}} + C$$

But

$$s(4) = 8 \Rightarrow \frac{1}{3} (4^3) - 2(4^{\frac{3}{2}}) + C = 8$$

$$\Rightarrow \frac{64}{3} - 2(\sqrt{4})^3 + C = 8$$

$$\Rightarrow \frac{64}{3} - 2(8) + C = 8$$

$$\Rightarrow \frac{64}{3} - 16 + C = 8$$

$$\Rightarrow C = 8 + 16 - \frac{64}{3}$$

$$= \frac{72 - 64}{3}$$

$$= \frac{8}{3}$$

Hence, the position of the particle at time t is

$$s(t) = \frac{1}{3}t^3 - 2t^{3/2} + \frac{8}{3}$$

⑥3 $a(t) = 10\sin t + 3\cos t$, $s(0) = 0$, $s(2\pi) = 12$

$$= -10(-\sin t) + 3(\cos t)$$

$$\Rightarrow v(t) = A(t) = -10\cos t + 3\sin t + C$$

ie;

$$v(t) = -10\cos t + 3\sin t + C$$

$$= -10(\cos t) - 3(-\sin t) + Ct^0$$

$$\Rightarrow s(t) = \int v(t) = -10\sin t - 3\cos t + Ct + D$$

$$\Rightarrow s(t) = v(t) -$$

$$\text{i.e., } s(t) = -10 \sin t - 3 \cos t + ct + D$$

But

$$s(0) = 0 \Rightarrow -10 \sin 0 - 3 \cos 0 + c(0) + D = 0$$

$$\Rightarrow -3(1) + D = 0 \Rightarrow D = 3$$

So

$$s(t) = -10 \sin t - 3 \cos t + ct + 3$$

Also,

$$s(2\pi) = 12 \Rightarrow -10 \sin(2\pi) - 3 \cos(2\pi) + c(2\pi) + 3 = 12$$

$$\Rightarrow -10(0) - 3(1) + 2\pi c + 3 = 12$$

$$\Rightarrow 2\pi c = 12 \Rightarrow c = \frac{6}{\pi}$$

Hence, the position of the particle at time t is

$$s(t) = -10 \sin t - 3 \cos t + \frac{6}{\pi} t + 3$$
$$=$$